KK

AB

S

ELETTROMECCANICA

4

| dati tecnici possono subire variazioni senza preawviso / Technical data may change without any notice

M6X16 §
180 | 175 | 177 | 120 | 100 | 56 | 22 | mexao | s0 | 8 | 20 | %0 | 1ox3 312 | 165 | 130 | 200 | 12 | 35 | 115 | 9 | 140 | W8 | 3
140 [ 175 | 177 | 140 125 | 56 | 24 | wexio | 50 | 8 | 20 | 90 | woxi3 | 2337 |65 | 130|200 | 12 |35 | 115 | 95 |0 | | 3
160 | 196 | 199 | 157 | 140 | 63 | 28 |mioxz2 | 60 | 8 | 24 | 100 | 12x16 375 | 215 | 180 | 250 | 15 | 4 | 130|110 | 160 | M8 | 35
160 | 196 | 199 | 157 | 140 | 63 | 28 |mioxz2 | 60 | 8 | 24 | 100 | 12x16 375 | 215 | 180 | 250 | 15 | 4 | 130|110 | 160 | M | 35
190 | 220 | 220 | 168 [ 140 | 70 | 28 [mioxez | 60 | 8 | 20 | 112 | 126 307 | 215 180 | 250 | 15 | 4 | 130|110 [ 160 | w8 | 35
216 | 252 | 261 | 187 | 120 | 89 | 38 |mizxzs | a0 | 10 | 33 206 | 2| 460 | 265 | 230 300 | 15 | 4 [ 165|130 | 200 w0 35
132 d
216 | 252 | 261 | 187 | 178 | 89 | 38 [mizxas| 80 | 10 | 33 12X16 498 | 265 | 230 [ 300 | 15 | 4 [ 185 | 130 | 200 [m10| 35
210 M16X36 | 110 3 14%19 865 85| 5 | 215|180 | 750 | M2 | @
250 | 320 | 330 | 281 —— 108 | 2 12 160 Raal
254 NI16X36 | 110 3 w19 | g | 685 85| 5 | 215|180 | 250 | M2 ]| 4
Va2 a0 | 250 | 350
241 M16X36 | 110 425 14X19 ’ 730 185| 5
279 | 350 | 380 | 274 — 121 | 48 14 180 —
279 M16X36 | 110 025 1419 775 85| 5
318 | 395 | 420 | 312 | 305 | 133 | 55 | m2oxaz | 110 | 16 | a9 | 200 | 18x25 785 | 350 | 300 | 400 | 185 5
366 | 436 | 465 | 337 | 266 | 149 | 60 | M2oxa2 | 140 | 18 | 83 1825 | o | 800 85| 5
55 |M20xaz | 110 | 16 | 49 | 225 | 18xzs | X15 | 830 | 400 | 350 | 450 | 185 5
366 | 436 | 465 | 337 | 311 | 149 el
60 | nz2oxaz | 140 | 18 | 53 18%25 860 85| 5
60 | M20X42 | 140 18 53 24X33 940 185| 5
406 | 495 | 520 | 372 | 349 | 168 250 S
65 | M2oxaz | 140 | 18 | 58 2433 o5 85| 5
65 | M20xz | 140 | 18 | 58 w33 | gy | 970 85| 5
457 | 550 | 570 | 401 | 368 | 190 B0 = 500 | 460 | 550
75 | 2ok | 140 | 20 | 675 2033 5 | g5 85| 5
280 L
65 | M2oxaz | 140 | 18 | 58 2433 1010 85| 5
457 | 550 | 570 | 401 | 19 | 190 S
75 | n2oxaz | 120 | 20 | 675 20X33 1015 85| 5
65 | M20x2 | 140 | 18 | 58 28X49 1145 u | s
508 | 630 | 620 | 492 | 406 | 216 hia
80 |moxaz | 1m0 | 2 | 7 28X49 190 u | s
65 | M2oxa2 | 140 | 18 | 58 28X49 1255 u | 6
508 | 630 | 620 | 492 | 457 | 216 315 1 500 | 550 | 660
80 |nzoxaz | 170 | 2 | 7 28X49 1300 2% | 5
65 | M20x2 | 140 | 18 | 58 W49 | sy |12 u | s
508 | 630 | 620 | 492 | 508 | 216 X165 [qa00]
80 |wzoxaz | 1m0 | 22 | 7 2849 5 {1300 u | s
75 | M22x50 | 120 | 20 | 675 28X49 1490 | 6
610 | 735 | 700 | 642 | 560 | 254 aiad
100 | Mzaxso | 210 | 28 | 85 28X49 1520 u | s
365 1 740 | 680 | 800
75 | M2axs0 | 140 | 20 | 675 28X49 1490 u | s
610 | 735 | 700 | 642 | 630 | 254 —
100 | M24X50 | 210 28 86 28X49 1520 24 6



